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Instructions :

ENGLISH VERSION

(1) All questions are compulsory.
(2) Marks are denoted on right side.

1 (a) What i1s index number ? Explain uses and limitation 8

of index number.

(b) Find the relative importance of B and C if salary 12
of a worker i1s Rs. 1,750 and index for the month
1s 136.
Comm. A B C D E
Weight 700 | - 180 [ 315
Index number | 180 150 | 100 | 110 | 80
OR
1 Find the index number of L, P, F, D-B, M-E. 20
Commodity | pp g9 P1 q
A 110 40 133 50
B 112 25 135 30
C 215 40 315 60
D 108 10 216 20
2 (a) What i1s the meaning of Time Series ? Explain the 8
parts of it.

(b) From the following time series estimate profit for the 12

year 1997, using straight line method :

Year |91 [92]93 94 (95|96
Profit | 50 [ 58 | 63 | 65 | 68 | 74
OR
2 Fit y=a+bx-+—cx2 :
Year | 1990 [ 1995 | 2000 | 2005 | 2010
Profit | 11 12 14 18 16
BBL-002-001605 ] 3

20

[ Contd....



3 (a) What is sampling ? Explain sampling technique 8

in brief.
(b) Find V(y), N=5,n =3, s2 = 235 7
OR
8 Find y, and V(7). 15
N, =40, N, =30 N, =30
¥, =5, v, =1, y,=6
s; =10, s; =8, 5;=9
n =38, n,=06 n,=6
4 (a) Explain : Types of association of attributes. 8
(b) Find Yule's coefficient of association : 7

N =1000, (4) = 420, (B) = 610, (4B) = 320

OR
4 (a) Explain : Uses of LP in various fields. 8
(b) Explain : Assumptions and limitations of LP. 7
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